[image: image1.emf]
[image: image2.emf]
[image: image3.emf]
[image: image4.emf]
[image: image5.emf]
[image: image6.png]‘3.1 Exercises

2) Soheforx  234x—2023

9,11
4)  Solve for z: 11+3 R

D Soveforx x4

@ soverocs

© sovetors

@ Solveforx:

@ sovetorr -

10) The total cost for renting a copy machine for 60 months at $100 per month plus 5 cents a copy is 0.05% + 6000
dollars, i x copies are made. If the same copy machine is purchased for $2000, then it costs 7 cents per copy for
supplies and maintenance, for a total cost of 2000 + 0,07 dollars for x copies. Solve the equation
0.05x + 6000 = 2000 + 0.07x to find the mumber of copies for which the 5-year cost i the same as purchasing,
Assuming the copier has no value after 5 years and assuming you make 2000 copies per moath, i it cheaper to rent
or purchase the machine?

@ Sovefors 47
12)  Solve for x: 2% -
19 Solvefory 2y +3+1=0

6) Sobvefors 123 —301 = 067 + 256,

,
@ sty h-t-kon

14) Solvefory 2y +dzty=2-y.
15) Soiveforz  2iy+ 3+ 1=0.

16)  Solve for z: 2y +dz+y=2-y
1) Sobveforz  yx—yi-(1+3)=x
P4 (ot D=tz

19) You have 27 coins, which are made up of nickels, dimes, and quarters, whose total value is $3.30. You have three
times as many quartes as dimes. How many nickels do you have?

18) Sobvefors  x

20) A piece of wire 76-in. long is bent into the shape of a rectangle thatis 2-in. longer then it is wide. What s the area
of the rectangle?

21) One thousand dollars was invested, patly at 6% annual simple interest and parly at 4%, The total interest eamed
i the frst year was §52. How much was invested at 6%7

22)  Find the side of a square such that when each side is increased by 6 in, the area of the square s increased
by 1565 in.
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[image: image12.png]Find the equation of the line passing through the point (1, 3)that i paalle to the line
243y =6

Solution First, we determine the slope of the given line by putting it i slope-
intercept form. We solve 2¢ + 3y = 6 for y (o get:

-2
y=-2x+2

Comparing this t0 y = mx + b, we see that the slope of the given line is
the point on the desired line s (1, 3), we use the point-slope form to get

2

3(
‘which is one form of the answer. Depending on your purpose, you may wish to
change it to slope-intercept form, ot leave it asis. W

y=3=-3G-1

Find the equation of the line passing through th point (3, ~2) thtis perpendicular
tothe line y = 6x + 4.

Solution The line y = 6x + 4 has slope equal to 6. Any line perpendicular to this
line will bave slope equal to 3. (This is the negative reciprocal of 6, ight?) So the
line we want passes through the point (3, ~2) and has slope
‘point-slope form we obtain:

J‘*i Exercises

In Exercises 1-5, graph the function by plotting two points each. (Why is it enough 10 plot only two poinis?)

@1 =5 D y=is
3 glx) =06 @ 1)
5 y=1000

@ Find the equation of the line of slope  through the point (2, 7).
(@) Find the equation of th line of slope —6 through the point (~3, 2).
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Find the equation of th line containing the two points (1, 2) and (2, 1). (Hins: Find m.)

Find the equation of the line containing the two points (1, 4) and 2, 1)

@) Graph e tnegiven by the oqution 4y — 3¢ = 24,

) Find the pointshope form o the equatin oftelin through the point (1, 4 parlel e vy = 25— 5.
Graph e e

12). Find the point-slope form for the equation of the line L through the point (4, 2) parallel to the lne y = 9x — 5.
Graph the lne L.

@) Find the slope-intercept form for th equation of the ine through the point (~ 1, 4) perpendicular to the line:
= bx — 5. Graph this lin, an labe the yintercept.

14) - Find the slope-intercept form of the equation of the line L through the point (1.34, 2.67) perpendicular to the line
= =0235x ~ 5.29. Graph this line L, and label they-intercept.

() Find the equation ofthe line theough the poin (0, £)parate o the fine = S — 10. Graph both lnes.
16)  Graph the line given by the equation 4,014y — 2.276x = 9.87.

Find the equation of the line through the point (1, ~3) perpendicular to the line y = —Lx — 5. Graph both lines.

®06

Find the equarion of the line through (3, —4) parale to the line 2x — y = 5, and put it ino slope-intercept form,

19). The temperature measured n degrees Fabrenhet,F, is a inear function of the temperature measured in degrees
(Celsius, C. The ordered pair, or point, (0, 32) s an ordered pair o this function because 0°C i equivalent to 32°F,
the freczing point of water. The ordered pair (100, 212) s also an ordered pair of this function since 100°C is
equivalent 0 212°F, the boling point of water. a) Use these two poins to write Fas a function of C, and graph .
) Find the temperature in degrees Fahrenheit of a thermometer reading 45°C.

20) I satstcs, one way to analyze data is by determining the “lineof best i also called a regression line. Once
his regression line i calculated, one may use it 0 predict dat values in between th collected dta, Given a set of
data poiats {(x1,3,), (x5, 2). (x3,3,), .+, (3,3, the regression lne s given by y = ax + b, where a and b are
functions of the actual datz, x, and y, for { = 1 . (The exact formulas are too complicated to v here right
mow.) Suppose a partcular set o data givesrise o values a = 1.078 and b = 3.4457, Graph this particular line of
regression. What i i x = 2.347 Whatis the significance of they-intercept?





